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BOOKS - R G PUBLICATION

MOTION

Example

1. An object has moved through a distance.

Can it have zero displacement? If yes, support

your answer with an example.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ps62MhuywZRv


Watch Video Solution

2. A farmer moves along the boundary of a

square field of side 10 m in 40 s. What will be

the magnitude of displacement of the farmer

at the end of 2 minutes 20 second from his

initial position?

Watch Video Solution

https://dl.doubtnut.com/l/_ps62MhuywZRv
https://dl.doubtnut.com/l/_HCHjVTD8mJrp


3. Which of the following true for

displacement? 

(a) It cannot be zero. 

(b) Its magnitude is greater than the distance

travelled by the object. 

(c) displacement may or may not be equal to

distance

A. only a

B. b and c

C. only c

https://dl.doubtnut.com/l/_8bbqlNuDPvne


D. All a, b and c

Answer:

Watch Video Solution

4. Which of the following is true about

distance and time.

A. (a) distance and time are always directly

proportional to each other

https://dl.doubtnut.com/l/_8bbqlNuDPvne
https://dl.doubtnut.com/l/_bSIOvL5uNfQL


B. (b) distance and time are always

indirectly proportional to each other.

C. (c) distance and time are directly

proportional when the velocity is

constant

D. (d) D distance and time are indirectly

proportional when the velocity is

constant

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bSIOvL5uNfQL


5. Distinguish between speed and velocity.

Watch Video Solution

6. Under what condition the magnitude of

average velocity is equal to the average speed

?

Watch Video Solution

https://dl.doubtnut.com/l/_bSIOvL5uNfQL
https://dl.doubtnut.com/l/_hDcXghGlJ9rg
https://dl.doubtnut.com/l/_290Fy6gNZ1NJ


7. What does the odometer of an automobile

measure?

Watch Video Solution

8. What does the path of an object look like

when it is in uniform motion?

Watch Video Solution

https://dl.doubtnut.com/l/_kCameEjb5fHS
https://dl.doubtnut.com/l/_qubRXgY7emlx


9. During an experiment, a signal from a

spaceship reached the ground station in five

minutes. What was the distance of the

spaceship from the ground station? The signal

travels at the speed of light, that is,

Watch Video Solution

3 × 108ms− 1

10. When will you say a body is in (i) uniform

acceleration? (ii) non- uniform acceleration?

https://dl.doubtnut.com/l/_ST9YuXiEMMbB
https://dl.doubtnut.com/l/_UNGb2M4TMHPX


Watch Video Solution

11. A bus decreases its speed from 80 km 

to 60 km  in 5 s. Find the acceleration of

the bus.

Watch Video Solution

h− 1

h− 1

12. A train starting from a railway station and

moving with uniform acceleration attains a

speed 40 km  in 10 minutes. Find its

acceleration.

h− 1

https://dl.doubtnut.com/l/_UNGb2M4TMHPX
https://dl.doubtnut.com/l/_FiBRm46FZ6lh
https://dl.doubtnut.com/l/_H02Rn4T9vozn


Watch Video Solution

13. What is the nature of the distance time

graphs for uniform and non-uniform motion

of an object?

Watch Video Solution

14. What can you say about the motion of an

object whose distance time graph is a straight

line parallel to the time axis?

https://dl.doubtnut.com/l/_H02Rn4T9vozn
https://dl.doubtnut.com/l/_YauMb6AhFphE
https://dl.doubtnut.com/l/_U9fagx1gcr7C


Watch Video Solution

15. What can you say about the motion of an

object if its speed time graph is a straight line

parallel to the time axis?

Watch Video Solution

16. What is the quantity which is measured by

the area occupied below the velocity-time

graph?

Watch Video Solution

https://dl.doubtnut.com/l/_U9fagx1gcr7C
https://dl.doubtnut.com/l/_6Hlmg0WlMCBq
https://dl.doubtnut.com/l/_ps8mlWhQ9Oo8


17. A bus starting from rest moves with a

uniform acceleration of 0.1 m  for 2

minutes. Find (a) the speed acquired, (b) the

distance travelled

Watch Video Solution

s− 2

18. A train is travelling at a speed of 90 km

. Brakes are applied so as to produce a

uniform acceleration of – 0.5 m . Find how

h− 1

s− 2

https://dl.doubtnut.com/l/_ps8mlWhQ9Oo8
https://dl.doubtnut.com/l/_MAURfLW0g0dK
https://dl.doubtnut.com/l/_KTcjOiv2OI9Q


far the train will go before it is brought to

rest.

Watch Video Solution

19. A trolley, while going down an inclined

plane, has an acceleration of 2 cm/ . What

will be its velocity 3 s after the start?

Watch Video Solution

s− 2

https://dl.doubtnut.com/l/_KTcjOiv2OI9Q
https://dl.doubtnut.com/l/_HNksuupSXPAv


20. A racing car has a uniform acceleration of

4 m . What distance will it cover in 10 s

after start?

Watch Video Solution

s− 2

21. A stone is thrown in a vertically upward

direction with a velocity of . If the

acceleration of the stone during its motion is

 in the downward direction, what will

5ms1

10ms− 2

https://dl.doubtnut.com/l/_8NpUBArV7Tw2
https://dl.doubtnut.com/l/_G0DBaM6PQwwP


be the height attained by the stone and how

much time will it take to reach there?

Watch Video Solution

22. An athlete completes one round of a

circular track of diameter 200 m in 40 s. What

will be the distance covered and the

displacement at the end of 2 minutes 20 s?

Watch Video Solution

https://dl.doubtnut.com/l/_G0DBaM6PQwwP
https://dl.doubtnut.com/l/_YEoTENHLr3vd


23. Joseph jogs from one end A to other end B

of a straight 300 m road in 2 minutes 30

seconds and then turns around and jogs 100

m back to point C in another 1 minute. What

are Joseph’s average speed and velocities in

jogging (a) from A to B and (b) from A to C?

Watch Video Solution

24. Abdul, while driving to school, computes

the average speed for his trip to be

https://dl.doubtnut.com/l/_3FhzSBLETnV1
https://dl.doubtnut.com/l/_K0wBMxoI83kH


. On his return trip along the same

route, there is less traffic and the average

speed is . What is the average speed

for Abdul's trip?

Watch Video Solution

20kmh − 1

30kmh− 1

25. A motorboat starting from rest on a lake

accelerate in a straight line at a constant of

 for 8.0 s. How far does the boat

travel during this time?

Watch Video Solution

3.0ms− 2

https://dl.doubtnut.com/l/_K0wBMxoI83kH
https://dl.doubtnut.com/l/_6wf1PfgdNJQi


26. A driver of a car travelling at 

applies the brakes and accelerates uniformly

in the opposite direction. The car stops in 5 s.

Another driver going at  in another

car applies his brakes slowly and stops in 10 s.

On the same graph paper, plot the speed

versus time graphs for the two cars. Which of

the two cars travelle farther after the brakes

were applied?

Watch Video Solution

52kmh− 1

3kmh− 1

https://dl.doubtnut.com/l/_6wf1PfgdNJQi
https://dl.doubtnut.com/l/_KvEJNs1Tu2nF
https://dl.doubtnut.com/l/_TKwDg6xCeNQq


27. 

 


In figure. shows the distance-time graph of

three objects A, B and C. Study the graph and

answer the following question: (a) Which of

the three is travelling the fastest?

Watch Video Solution

https://dl.doubtnut.com/l/_TKwDg6xCeNQq


28. 

 


In figure. shows the distance-time graph of

three objects A, B and C. Study the graph and

answer the following question: (B) Are all

three ever at the same point on the road?

https://dl.doubtnut.com/l/_TKwDg6xCeNQq
https://dl.doubtnut.com/l/_q62PVqJ88AyE


Watch Video Solution

29. 

 


In figure. shows the distance-time graph of

three objects A, B and C. Study the graph and

https://dl.doubtnut.com/l/_q62PVqJ88AyE
https://dl.doubtnut.com/l/_KW6DgQef6ste


answer the following questions: ( C) How far

has C travelled when B passes A?

Watch Video Solution

30. 

 


In figure. shows the distance-time graph of

https://dl.doubtnut.com/l/_KW6DgQef6ste
https://dl.doubtnut.com/l/_PRVLaA5nYU9A


three objects A, B and C. Study the graph and

answer the following questions:(d) How far

has B travelled by the time it passes C?

Watch Video Solution

31. A ball is gently dropped from a height of 20

m. If its velocity increases uniformly at the rate

of , with what velocity will it strike the

ground? After what time will it strike the

ground?

Watch Video Solution

10ms− 2

https://dl.doubtnut.com/l/_PRVLaA5nYU9A
https://dl.doubtnut.com/l/_OAs0FVANDrp4


32. The speed time graph for a car is shown in

the figure. 

 


find how far is the car travel in the first 4

seconds. Shade the area on the graph that

represents the distance travelled by the car

during the period.

Watch Video Solution

https://dl.doubtnut.com/l/_OAs0FVANDrp4
https://dl.doubtnut.com/l/_mppBWyy5L0nZ


33. The speed time graph for a car is shown in

the figure. 

 


Which part of the graph represents uniform

motion of the car?

Watch Video Solution

https://dl.doubtnut.com/l/_mppBWyy5L0nZ
https://dl.doubtnut.com/l/_4ZnNdIhs0GSx
https://dl.doubtnut.com/l/_2pgoDs9OSi1k


34. An artificial satellite is moving in a circular

orbit of radius 42250 km. Calculate, its speed if

it takes 24 hours to revolve around the earth.

Watch Video Solution

35. Which one is scalar quantity.

A. Velocity

B. Speed

C. displacement

D. deceleration

https://dl.doubtnut.com/l/_2pgoDs9OSi1k
https://dl.doubtnut.com/l/_yA2gRxLXDJbj


Answer:

Watch Video Solution

36. What is the S.I. unit of speed?

A. Km/h

B. cm/s

C. m/s

D. m/h

Answer:

https://dl.doubtnut.com/l/_yA2gRxLXDJbj
https://dl.doubtnut.com/l/_3vSR0typUiSF


Watch Video Solution

37. Rate of change of displacment is known as-

A. Velocity

B. acceleration

C. speed

D. retardation

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3vSR0typUiSF
https://dl.doubtnut.com/l/_KidwHAeXoubi


38. If the distance travelled by a body is x and

its displacement is y, which one is not correct?

A. x>y

B. x-y=0

C. x < y

D. 

Answer:

Watch Video Solution

x ≠ y

https://dl.doubtnut.com/l/_KidwHAeXoubi
https://dl.doubtnut.com/l/_Nn4Vy658Mraz
https://dl.doubtnut.com/l/_eAXBjV9UmeHv


39. Which one is a vector quantity?

A. area

B. volume

C. acceleration

D. speed

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eAXBjV9UmeHv


40. Which has no direction-

A. Velocity

B. displacement

C. acceleration

D. distance

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KsTn64puGSNs


41. What is the unit of acceleration-

A. 

B. km/min

C. m/s

D. S

Answer:

Watch Video Solution

cm/s2

https://dl.doubtnut.com/l/_NzaLvuEAFXMv


42. Retardation

A. increases in velocity

B. decrease in velocity

C. velocity remain same

D. magnitude of velocity remains same but

direction is changed.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_tJ1D3TqBNaQb
https://dl.doubtnut.com/l/_a7RfQwnw9Wux


43. Express 12.5 m/s into km/h ?

Watch Video Solution

44. If a body travels 30 m in 3 see the speed of

the body is

A. 10 m/s

B. 10 cm/s

C. 30

D. 27 m

https://dl.doubtnut.com/l/_a7RfQwnw9Wux
https://dl.doubtnut.com/l/_eDq5dDtLHT4o


Answer:

Watch Video Solution

45. Which relation is not correct-

A. 

B. Distance =velocity x time

C. acceleration = velocity / time

D. velocity = acceleration / time

Answer:

Speed =
dis tan ce

time

https://dl.doubtnut.com/l/_eDq5dDtLHT4o
https://dl.doubtnut.com/l/_lyOxlb9I8G8J


Watch Video Solution

46. What is distance?

Watch Video Solution

47. Is distance a vector quantity?

Watch Video Solution

48. What is displacement?

https://dl.doubtnut.com/l/_lyOxlb9I8G8J
https://dl.doubtnut.com/l/_UonWj4c1JmI5
https://dl.doubtnut.com/l/_Ad7Jj1s4jdqk
https://dl.doubtnut.com/l/_u57B3Syl4Iwr


Watch Video Solution

49. Is displacement a vector quantity?

Watch Video Solution

50. What it he C.G.S and S.I. unit of

displacement?

Watch Video Solution

https://dl.doubtnut.com/l/_u57B3Syl4Iwr
https://dl.doubtnut.com/l/_6KHRQpOVpKbc
https://dl.doubtnut.com/l/_IqzJlWvSEtzW


51. What is a scalar quantity? Give two

examples.

Watch Video Solution

52. What is vector quantity? Give two

examples.

Watch Video Solution

https://dl.doubtnut.com/l/_BqyV5ETpwDmC
https://dl.doubtnut.com/l/_4FU5t3DzHTRi


53. Under which condtion the distance

travelled by a body is equal to the

displacement of the body?

Watch Video Solution

54. When the displacement of a moving body

becomes zero?

Watch Video Solution

https://dl.doubtnut.com/l/_Uim177YAM9SG
https://dl.doubtnut.com/l/_Tmu9ORpFOq2z


55. What is speed?

Watch Video Solution

56. Is speed a scalar quantity?

Watch Video Solution

57. Write down the relation between speed,

distance travelled by the body and time taken.

Watch Video Solution

https://dl.doubtnut.com/l/_W9mWAaDrzbO2
https://dl.doubtnut.com/l/_Rd3HGwpiwVE9
https://dl.doubtnut.com/l/_XFu66Gv8LsnZ


58. What is the C.G.S and S.I unit of speed?

Watch Video Solution

59. What is uniform speed?

Watch Video Solution

60. What is nonuniform speed?

Watch Video Solution

https://dl.doubtnut.com/l/_XFu66Gv8LsnZ
https://dl.doubtnut.com/l/_SYt4HJOGjbtw
https://dl.doubtnut.com/l/_6zGXPrMqP4qv
https://dl.doubtnut.com/l/_KE9Pk09MekZH


61. What is velocity?

Watch Video Solution

62. Define velocity in terms of displacement.

Watch Video Solution

63. Is velocity a vector quantity?

Watch Video Solution

https://dl.doubtnut.com/l/_KE9Pk09MekZH
https://dl.doubtnut.com/l/_y2V8d7r49n1h
https://dl.doubtnut.com/l/_FvvWUEdia48V
https://dl.doubtnut.com/l/_7jX6481L6pwo


64. Write the expression for average velocity?

Watch Video Solution

65. What is the C.G.S and S.I unit of velocity?

Watch Video Solution

66. What is uniform velocity?

Watch Video Solution

https://dl.doubtnut.com/l/_7jX6481L6pwo
https://dl.doubtnut.com/l/_tkcvbVXtuzl0
https://dl.doubtnut.com/l/_gQZaigeQ0DRt
https://dl.doubtnut.com/l/_rr9ND6dcMKBh


67. What is non unifrom velocity?

Watch Video Solution

68. What is acceleration?

Watch Video Solution

69. Is acceleration a scalar quantity?

Watch Video Solution

https://dl.doubtnut.com/l/_rr9ND6dcMKBh
https://dl.doubtnut.com/l/_SwDbC0GvWh4c
https://dl.doubtnut.com/l/_mWUTKM24DcJZ
https://dl.doubtnut.com/l/_RPhgjfWnlF2p


70. What is the C.G.S and S.I. unit of

acceleration?

Watch Video Solution

71. A body moves from A to B. The velocity of

the body at A is u and at B is V. Time taken by

the body to move is t: Write down the

expression for acceleration ‘a’ of the body.

Watch Video Solution

https://dl.doubtnut.com/l/_RPhgjfWnlF2p
https://dl.doubtnut.com/l/_TKEDnVjvw9zl
https://dl.doubtnut.com/l/_NBHvPSX7vi7j


72. What is uniform acceleration?

Watch Video Solution

73. What is non unifrom acceleration?

Watch Video Solution

74. Give two examples of unifrom

acceleration?

https://dl.doubtnut.com/l/_NBHvPSX7vi7j
https://dl.doubtnut.com/l/_9yyt5rmdVjj6
https://dl.doubtnut.com/l/_oZhQL25FQokj
https://dl.doubtnut.com/l/_XSz9nk825nLF


Watch Video Solution

75. What is the direction of acceleration?

Watch Video Solution

76. What is retardation?

Watch Video Solution

77. Give one example of retardation.

https://dl.doubtnut.com/l/_XSz9nk825nLF
https://dl.doubtnut.com/l/_ImPP7kymvly8
https://dl.doubtnut.com/l/_glYX58g0KuZ0
https://dl.doubtnut.com/l/_1hYi8aEN9QZL


Watch Video Solution

78. What is uniform circular motion?

Watch Video Solution

79. Give two examples of uniform circular

motion.

Watch Video Solution

https://dl.doubtnut.com/l/_1hYi8aEN9QZL
https://dl.doubtnut.com/l/_8WhW9VenC7OD
https://dl.doubtnut.com/l/_qZjLI7zfJfH6


80. The states of rest and motion are relative?

Explain it.

Watch Video Solution

81. Write difference between distance and

displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_J5efl20OhUQx
https://dl.doubtnut.com/l/_uXClcecVTvhm


82. Write the difference between speed and

velocity.

Watch Video Solution

83. How can the velocity of a body be changed?

Watch Video Solution

84. Uniform circular motion is accelerated

motion explain.

https://dl.doubtnut.com/l/_CNG1kxABYJQd
https://dl.doubtnut.com/l/_5tu5rN5IXAh2
https://dl.doubtnut.com/l/_8Un4JNqjApAe


Watch Video Solution

85. A stone tied to one end of a string is

rotated in a Circle. What happens when the

stone is released?

Watch Video Solution

86. Find the relation , where, u-

initial velocity, v-final velocity, a-acceleration

and t-time.

v = u + at

https://dl.doubtnut.com/l/_8Un4JNqjApAe
https://dl.doubtnut.com/l/_qSuZnDwH6NCU
https://dl.doubtnut.com/l/_FKBydygqb4TC


Watch Video Solution

87. Find the relation 

Watch Video Solution

s = ut + at21

2

88. Find the relation 

Watch Video Solution

v2 = u2 + 2as

https://dl.doubtnut.com/l/_FKBydygqb4TC
https://dl.doubtnut.com/l/_nO5WGDJqHam7
https://dl.doubtnut.com/l/_uqxFcNdxtSo6


89. An object is moving along a straight line

with a uniform speed of 10m/s. Plot a graph

showing distance versus time from t=0 to

t=10s.

Watch Video Solution

90. The following is a time -distance table of a

body moving with non-uniform speed. Prepare

a graph. 

https://dl.doubtnut.com/l/_VfZvd2vcmkW2
https://dl.doubtnut.com/l/_0nuyiFm9xhdb


Watch Video Solution

91. Draw the shape of the velocity-times graph

for a body moving with (a) uniform velocity, (b)

uniform acceleration.

Watch Video Solution

92. A body moving in a circular path of radius

14 m completes one round in 10 seconds. Find

its circular velocity.

https://dl.doubtnut.com/l/_0nuyiFm9xhdb
https://dl.doubtnut.com/l/_nnwm4HUYHVjF
https://dl.doubtnut.com/l/_H0eucOgTRwcd


Watch Video Solution

93. The circular velocity of a moving body is

13.2 m/s. It takes 10 seconds to make one

complete circle. Find out the radius of the

circular path.

Watch Video Solution

94. A motor car travelled 100 km at a velocity

of 40 km/h and come back with a velocity of 25

km/h. Find the average speed.

https://dl.doubtnut.com/l/_H0eucOgTRwcd
https://dl.doubtnut.com/l/_0AxGCY9nWpvq
https://dl.doubtnut.com/l/_J34EZwTBwIC6


Watch Video Solution

95. A motor car starting from rest travelled for

10 seconds with an uniform. acceleration of

. What is the final velocity? Find the

distance covered by the car.

Watch Video Solution

5m/s2

96. A cricket ball is vertically thrown up with a

velocity 20 m/s. If the acceleration' - in the

https://dl.doubtnut.com/l/_J34EZwTBwIC6
https://dl.doubtnut.com/l/_Voko3pmDWoKK
https://dl.doubtnut.com/l/_cnezCnhHiYeF


opposite direction is , how high will

the ball rise? What time will it take to reach

the maximum height?

Watch Video Solution

10m/s2

97. A train is moving at a velocity of 120 km/h.

Brakes were applied and an uniform

retardation of  was produced. What

distance will the train move before coming to

a half?

Watch Video Solution

0.5m/s2

https://dl.doubtnut.com/l/_cnezCnhHiYeF
https://dl.doubtnut.com/l/_UHlOmZvfHS7p


98. The initial velocity of a car is 3 m/sec. Its

after 1 sec. velocity changed to 4 m/sec. If the

car moves with uniform acceleration, what will

be its velocity after 10 secs?

Watch Video Solution

99. A bullet weighing 10 g is fired with a

velocity of 800ms −1
 . After passing through a

mud wall 1 m thick, its velocity decreases to

https://dl.doubtnut.com/l/_UHlOmZvfHS7p
https://dl.doubtnut.com/l/_dDXdnNHs5DQ2
https://dl.doubtnut.com/l/_3Y9Kw4MZDP9d


100ms −1
 . Find the average resistance offered

by the mud wall.

Watch Video Solution

100. A bullet with a speed of 

strikes a wooden target and penetrates a

distance of 1.5 cm. Find (i) the acceleration (ii)

the time.

Watch Video Solution

3x103cm/s

https://dl.doubtnut.com/l/_3Y9Kw4MZDP9d
https://dl.doubtnut.com/l/_uAfHBnAyL9GW


101. A car is moving at a velocity 72 km/h.

Brakes were applied. After moving a distance

200 m the car attains velocity 36 km/h. Find (i)

acceleration of the car

Watch Video Solution

102. A car is moving at a velocity 72 km/h.

Brakes were applied. After moving a distance

200 m the car attains velocity 36 km/h.What

https://dl.doubtnut.com/l/_2dSU0jyAKj3e
https://dl.doubtnut.com/l/_pTv1FPS7ZJrg


distance will the train move before coming to

rest.

Watch Video Solution

https://dl.doubtnut.com/l/_pTv1FPS7ZJrg

